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1 100kN/mM#ZH#BZ % 1.00 [0.00 ~ 3.14 150.19 [3mZE#%5(0.00 ~ 1.89 | 3.80 19.23 | 100kN/m%i#8x5 | 1.00 |10.90 ~ 51.34 150.19 [3m%#Bx5[40.00 ~ 51.34| 3.80 19.23
st 1.00 |3.14 ~ 10.93 100.00 | =#Lkist [1.89 ~ 10.93] 3.00 15.16 Fhs 1.00 | 5.00 ~ 10.90 100.00 | #n kst | 5.00 ~ 40.00 | 3.00 15.16
9 100kN/mM#ZH#BZ % 1.00 [0.00 ~ 3.19 151.02 [3mZE#%25(0.00 ~ 1.91 | 3.82 19.30 | 100kN/m%#8x5 | 1.00 |10.86 ~ 52.07 151.02 [3m%#BZ5[40.00 ~ 52.07 | 3.82 19.30
st 1.00 |3.19 ~ 10.98 100.00 | =#Llist [1.91 ~ 10.98] 3.00 15.16 Zh st 1.00 | 5.00 ~ 10.86 100.00 | #n st | 5.00 ~ 40.00 | 3.00 15.16
3 100kN/mM#ZH#BZ % 1.00 [0.00 ~ 3.15 150.36 |3m%i#&EZ5[0.00 ~ 1.90 | 3.81 19.24 | 100kN/m%i#8x5 | 1.00 |10.90 ~ 52.07 150.36 [3mZ# 2 5[40.00 ~ 52.07 | 3.81 19.24
ZzhnLst 1.00 |3.15 ~ 10.94 100.00 | =#Llist [1.90 ~ 10.94] 3.00 15.16 Zh st 1.00 | 5.00 ~ 10.90 100.00 | Z#n st | 5.00 ~ 40.00 | 3.00 15.16
4 100kN/mM#ZH#BZ % 1.00 [{0.00 ~ 2.51 139.28 [3m%E#%25(0.00 ~ 1.63 | 3.65 18.44 | 100kN/m%i#8x5 | 1.00 |11.79 ~ 53.06 139.28 [3m%itBx5[40.00 ~ 53.06 | 3.65 18.44
st 1.00 |2.51 ~ 10.29 100.00 | =#Llist [1.63 ~ 10.29] 3.00 15.16 Fhst 1.00 | 5.00 ~ 11.79 100.00 | x4t | 5.00 ~ 40.00 | 3.00 15.16
5 100kN/mM#ZH#BZ % 1.00 [0.00 ~ 2.35 136.65 [3mZx#%25(0.00 ~ 1.56 | 3.61 18.27 | 100kN/m%i#8x5 | 1.00 |12.09 ~ 56.45 136.65 [3m%i#BZ5[40.00 ~ 56.45| 3.61 18.27
Zzhn st 1.00 |2.35 ~ 10.13 100.00 | =#Llist [1.566 ~ 10.13] 3.00 15.16 Zh st 1.00 | 5.00 ~ 12.09 100.00 | Z#n st | 5.00 ~ 40.00 | 3.00 15.16
6 100kN/mM#ZH#BZ % 1.00 [0.00 ~ 2.49 138.97 [3m%i#EA5[0.00 ~ 1.62 | 3.64 18.41 | 100kN/m%#8x5 | 1.00 |11.84 ~ 56.00 138.97 |3mZ#Z5|40.00 ~ 56.00 | 3.64 18.41
st 1.00 |2.49 ~ 10.27 100.00 | =#Llist [1.62 ~ 10.27] 3.00 15.16 Zh st 1.00 | 5.00 ~ 11.84 100.00 | Z#n st | 5.00 ~ 40.00 | 3.00 15.16
7 100kN/mM#ZH#BZ % 1.00 [0.00 ~ 2.80 144.31 [3mZE#Z25(0.00 ~ 1.74 | 3.71 18.77 | 100kN/m%i#8x5 | 1.00 |11.33 ~ 54.00 144.31 |3m%#BZ5[40.00 ~ 54.00 | 3.71 18.77
Zzhn st 1.00 [2.80 ~ 10.59 100.00 | =#Llist [1.74 ~ 1059 3.00 15.16 zhst 1.00 | 5.00 ~ 11.33 100.00 | x4t | 5.00 ~ 40.00 | 3.00 15.16
100kN/MZ#B % % ~ ImEBZD ~ 100kN/m%Z#BZ % ~ ImEHBZS ~
ZhnLst ~ st ~ Zh st ~ Fh s ~
100kN/MZ#B % % ~ ImERBZD ~ 100kN/m%Z#BZ % ~ ImEHBZS ~
ZhnLst ~ FnLst ~ Zh st ~ st ~
100kN/MZ#B % % ~ ImERBZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
Zh s ~ ZzhnLst ~ ZhLlst ~ Zh s ~
100kN/MZ#B % % ~ ImERBZD ~ 100kN/m%Z#BZ % ~ ImEHBZS ~
ZhLst ~ st ~ zh st ~ Fh s ~
100kN/MZ#B % % ~ ImERBZD ~ 100kN/m%Z#BZ % ~ ImEHBZS ~
Zhst ~ st ~ Zh st ~ st ~
100kN/MZ#B % % ~ ImERBZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
Zh Lo ~ ZzhLst ~ ZhLlst ~ Zh s ~
100kN/MZ#B% % ~ ImERBZD ~ 100kN/m%Z#BZ % ~ ImEHBZS ~
Zh st ~ Lt ~ Zh st ~ Fh s ~
100kN/MZ#B% % ~ ImERBZD ~ 100kN/m%Z#BZ % ~ ImEHBZS ~
zh s ~ Zzh st ~ zhs ~ Zzh st ~
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